Alg IT Notes Composite Functions
The notation f*) [say “fof x”’] means a function of the number x.
If f(x)=2x"=3x=5, find f(1). Substitute 1 in for x> fD= 2:1=31-5 5o f(h=-6.

ex 1 -1f fx)==4x+3x—17, find f(2).
Fla) = = 4(2)® 4 3(2) -7

SR
= -32 4L —7 = T2-77 :

Composite functions are functions of other functions. Several notations for composite functions
are these: J(8(¥): flg(x)], and f Og. For all, you say “f of g of x.”
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ex 2 If f(x)=2x+5 and g(x)=3—4x, then find:

a. f(g(l)) =3 b. g(f(—-2)) = =]
gu) = 3-4U)=3-4 = —| Pl-2)= 2(-2) 45 = -4+5 = |
F(-1) = 2(-t)+5 g(|)= B—gl1) = 3-d=—|
= -245
= 3

ex 3 Iff(.:r)=x2, g(x)=x+5, and h(x)=+10-x, then whatisf(g(h(l)))? = LY
"‘\(I)-': 4!0--—): "{—0—“3

9[3) 3+5= ¢

f(g)= 8= ©H

"

Yy & Check valirk?
£(gL0) o= 1
o 4 1f S(x)=x +x and g(x)= 1+ 2x, then whatis f[g(=)]? g(0 = 3 (3)
3(::) becomes the input for £
Flivax) = (14+2¢) + (1¥2x) (142) (V+2x) + (142x)

2
| 4 dx +ux” +1+2x s
[:&“ toxsz | fguE e

ex 5 1f f()=x"+x and g(x)=1+2x, then what E o
gUx*x) = L 20x™4) = [ 26"+ 2x 41 Netice  Fo§ @ T o
ncccssari{u’ 47)“'4 + 9
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ex 6 Iff(x)=\/;and g(x)=x+35, then find :
a. fog h. E“f

£(x+5) = X+5 9(4;) ) Ix +5




